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I Analysis of the two exclusions in the n1wn — 80N nmn and NV nmn — if performed 1NYY RYW — invalid
a  source: R0IN NMIN —it’s called a nron (v. 1) > like nxon, if performed mw5 RYY, invalid
b source: mr1p nman — per 17’s explanation of why mrip nnmn amn goes namY — v. 2 compares it to nron (v. 3)
i challenge: WX should also be invalid if performed 1mw% 85w (besides X" opinion — R:R ©Nar) per v. 4
ii  answer: My is not the same as My
1 challenge: v. 5 — we equate 020 2aw1 to 1120 K2 (in re: 0'Na *YA)
2 furthermore: v. 6 should tie nRYn to the word 1y - nwr should be equal
iii  rather: we only infer yy::y for purpose of nam “mn (per Rin’s original statement to 11) — not for 1MW5 RHYY
1 challenge: we don’t generally have a limited application of w1 (nXnn% MW NN PR)
(a) answer: in this case, v. 7 limits invalidity of 1aw% X5 to nnna nxon
iv  rather: source of nnN2 NRYN is from “R'n NRVN”; states the same for our mmMn (vv. 1-2)
1 challenge: nWR also has X0 DWR (v. 8)
(a) answer: that is in re: after n7vpn, which is itself dispensible
(b) question: what is purpose of X0 (v. 8)?
(i) answer: per 17 —an DWR set for grazing which is slaughtered ono > n%y; but not before — &1 Dwr
I status of 1nyn nmn where the n¥np was doen NnwH ROV
a 171 invalid - since its purpose is to permit wn and it didn’t successfully do so
i and:same applies to 1’13 DWR and Y7¥n DWR that were slaughtered 1nYY RYY
ii  challenge (text): our nwn only lists RV NN and MRap NN
1 defense: our mwn only deals with 7> mnn, unaccompanied by o’nar and have no set time
iii  challenge (to application to ¥71¥n DWA) P12 DWK): R:R ©'Nar omits them from list (of 2) of 1nvY R5>W D108
1  answer: since other nMwR would be valid 19v% 89w, the ®in didn’t want to state "DWR”
2 challenge: if other mia17p don’t count for their owners (i.e. no n193), why consider them w5?
(a) explanation: just as y11¥n DWNR is invalid because 17wan ® PWINY K1, others are 1793 R 7935 N2
(b) answer (707 ’7): we find that n793 has a wider net — it can be effective posthumously
(i) proof: n:a o1p —if a NTYY brought her nron and died, the heirs bring her n%y
(c) challenge: 1wan also come posthumously: 2:3 n%yn — if a 9’11 set aside money for his nM11p and then
died, some of them (n'n>v1 n%y) may be brought in some circumstances = 171>¥2n come nnPn INRS
(i) answer (977): what mnP 1 meant was that we don’t find a complete 9wan coming nmnm INR>
1. explanation: v Ny are each a partial 7wan as each one alone could permit him to shave etc.
iv  challenge: Xmoa ruling that an ym¥n DR brought mwH R5w is valid, requires nav1 — but the y11¥n must bring an-
other nwr to fulfill his requirements
1 conclusion: 27's position is rejected
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